
1) 16   14/19 - 14   6/15

Answer: ____________

2) Increase 298 by 1/149

Answer: ____________

3) Find the percentage change from 30 to 
48

Answer: ____________

4) (-555) ÷ 37

Answer: ____________

5) Decrease 24 by 1/12

Answer: ____________

6) Convert the following improper 
fraction 35/11 + 102/10 to a mixed 
number

Answer: ____________

7) 134/6 ÷ 43/4

Answer: ____________

8) An amount was increased by 6% to 
$328.00. Find the original amount.

Answer: ____________

9) Increase 250 by 1/125

Answer: ____________

10) (-352) ÷ 32

Answer: ____________

11) 199/13 ÷ 173/4

Answer: ____________

12) (-50) x 27

Answer: ____________

13) 3/118 of 236

Answer: ____________

14) 17   4/8 - 10   3/9

Answer: ____________

15) 8/
17 ÷ 17

/18

Answer: ____________
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16) 11/
12 ÷ 3/16

Answer: ____________

17) 85/13 x 11/2

Answer: ____________

18) 549 + (-378)

Answer: ____________

19) Convert the following mixed number 
169/3 to an improper fraction.

Answer: ____________

20) 84% of 65

Answer: ____________

21) Increase 68 by 1/17

Answer: ____________

22) 94% of 87

Answer: ____________

23) 19 x (-25)

Answer: ____________

24) 19 x (-47)

Answer: ____________

25) 6/16 - 2/6

Answer: ____________

26) Convert the following improper 
fraction 188/16 + 176/12 to a mixed 
number

Answer: ____________

27) 74/17 x 71/19

Answer: ____________

28) (-486) + 701

Answer: ____________

29) 11/19 + 9/20

Answer: ____________

30) 17/6 - 20/15

Answer: ____________
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31) (-308) ÷ 14

Answer: ____________

32) Convert the following improper 
fraction 412/15 + 93/11 to a mixed 
number

Answer: ____________

33) (-836) ÷ 38

Answer: ____________

34) (-396) ÷ 11

Answer: ____________

35) 16/14 + 1/6

Answer: ____________

36) 16/
13 ÷ 6/19

Answer: ____________

37) (-120) ÷ (-15)

Answer: ____________

38) 154/19 ÷ 713/15

Answer: ____________

39) 10/6 + 6/6

Answer: ____________

40) Convert the following mixed number 
44/15 to an improper fraction.

Answer: ____________

41) Increase 222 by 2/111

Answer: ____________

42) Convert the following improper 
fraction 21/2 + 710/11 to a mixed 
number

Answer: ____________

43) Increase 21 by 2/7

Answer: ____________

44) Find the percentage change from 16 
to 32

Answer: ____________

45) 136/17 ÷ 49/19

Answer: ____________
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46) Find the percentage change from 50 
to 99

Answer: ____________

47) 6/1 - 5/14

Answer: ____________

48) Convert the following fraction into a 
mixed number: 4/1

Answer: ____________

49) 8/125 of 250

Answer: ____________

50) 2/125 of 250

Answer: ____________

51) Convert the following fraction into a 
mixed number: 37/16

Answer: ____________

52) Increase 300 by 1/75

Answer: ____________

53) (-26) ÷ (-26)

Answer: ____________

54) 9/16 x 17/14

Answer: ____________

55) Convert the following mixed number 
419/2 to an improper fraction.

Answer: ____________

56) 15 x (-18)

Answer: ____________

57) 8/8 - 7/12

Answer: ____________

58) 14   4/12 - 11   2/3

Answer: ____________

59) 18/13 + 6/5

Answer: ____________

60) 20/18 x 18/20

Answer: ____________
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61) (-676) ÷ (-26)

Answer: ____________

62) (-402) + (-395)

Answer: ____________

63) (-441) ÷ 21

Answer: ____________

64) Find the percentage change from 45 
to 72

Answer: ____________

65) 1/1 of 20

Answer: ____________

66) 41/20 x 206/7

Answer: ____________

67) 700 + (-477)

Answer: ____________

68) 202 + (-308)

Answer: ____________

69) Increase 112 by 3/56

Answer: ____________

70) 6/
6 ÷ 17

/2

Answer: ____________

71) 71/20 x 38/11

Answer: ____________

72) 3/6 x 5/20

Answer: ____________

73) 13/
9 ÷ 5/8

Answer: ____________

74) Convert the following fraction into a 
mixed number: 13/5

Answer: ____________

75) 38/17 ÷ 92/3

Answer: ____________
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76) Convert the following improper 
fraction 28/11 + 41/2 to a mixed 
number

Answer: ____________

77) 11/5 - 7/19

Answer: ____________

78) Convert the following mixed number 
41/17 to an improper fraction.

Answer: ____________

79) 5/42 of 168

Answer: ____________

80) Convert the following fraction into a 
mixed number: 21/10

Answer: ____________

81) Convert the following fraction into a 
mixed number: 35/8

Answer: ____________

82) An amount was decreased by 1% to 
$23.00. Find the original amount.

Answer: ____________

83) 12/6 + 3/7

Answer: ____________

84) Convert the following fraction into a 
mixed number: 29/16

Answer: ____________

85) 1   5/6 - 18   3/4

Answer: ____________

86) Convert the following fraction into a 
mixed number: 31/16

Answer: ____________

87) Convert the following mixed number 
410/2 to an improper fraction.

Answer: ____________

88) 5/71 of 284

Answer: ____________

89) 121/3 ÷ 1515/16

Answer: ____________

90) Increase 266 by 5/133

Answer: ____________
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91) 19/
6 ÷ 13

/14

Answer: ____________

92) (-269) + 585

Answer: ____________

93) Decrease 216 by 1/72

Answer: ____________

94) 196/12 x 916/17

Answer: ____________

95) Convert the following mixed number 
1320/3 to an improper fraction.

Answer: ____________

96) 16/20 + 1/5

Answer: ____________

97) Convert the following improper 
fraction 49/10 + 95/8 to a mixed 
number

Answer: ____________

98) 5/6 + 18/13

Answer: ____________

99) An amount was decreased by 7.9% to 
$22.00. Find the original amount.

Answer: ____________

100) An amount was decreased by 3% to 
$432.00. Find the original amount.

Answer: ____________

Total: ___ / 100
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Answers:

1) 232/95 2) 300 3) 60% 4) -15 5) 22 6) 1336/55 7) 250/57

8) $309.43 9) 252 10) -11 11) 1101/923 12) 13) 6 14) 71/6

15) 144/289 16) 48/9 17) 1215/26 18) 171 19) 19/1 20) 54.6 21) 72

22) 81.78 23) 24) 25) 1/24 26) 36 27) 519/323 28) 215

29) 111/380 30) 11/2 31) -22 32) 144/55 33) -22 34) -36 35) 113/42

36) 335/39 37) 8 38) 12093/2242 39) 22/3 40) 64/15 41) 226 42) 109/22

43) 27 44) 100% 45) 21423/1445 46) 98% 47) 59/14 48) 4 49) 16

50) 4 51) 25/16 52) 304 53) 1 54) 153/224 55) 27/2 56)

57) 5/12 58) 22/3 59) 238/65 60) 1/1 61) 26 62) -797 63) -21

64) 60% 65) 20 66) 8433/70 67) 223 68) -106 69) 118 70) 2/17

71) 2661/220 72) 1/8 73) 214/45 74) 23/5 75) 177/493 76) 75/22 77) 179/95

78) 69/17 79) 20 80) 21/10 81) 43/8 82) $22.77 83) 23/7 84) 113/16

85) 3311/12 86) 115/16 87) 9/1 88) 20 89) 592/765 90) 276 91) 316/39

92) 316 93) 213 94) 19329/34 95) 59/3 96) 1/1 97) 1421/40 98) 217/78

99) $20.26 100) $419.04
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